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Lesson 2

We used a calculator and rounded the answer to two decimal places, =0 the answer is not
exact. We indicate that the answer is not exact by using the symbol = for “approximately equal
to.”" The circumference equals 2ar, 50 now we can find the circumference.

Circumfercnce = 2ar

couation

= 2n(1.97) subsnitated

= 1L} m simplified

example 2.6  The circumference of a circle is #r cm. What is the area of the circle?

solufion  First we find the radius.

Circumierence = 28gr

Br = 2mr

Er

St omr
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dem=r

Mow we can use 4 cm for r o Gosd the anea.

Area = &
= o4 cm)’
= 167 em®
practice Simplify:
a =47 b (472

expualicn
substitued
divided by 1=

simpiled

equation
substitated

simiplified
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d. The area of a circle is 49 cm?, What is the circumference of the circle?

problem set 1. Find x,

|

L

3. The base of acylinder is a right triangle
topped by a 607 sactor of a circle, os
shawn, I the dimensions are in meters
and the height of the cylinder is 8
meters, what is the volume of the
eylimder?

d. Find A, B, and T,

L Find v and y.

5. Find A. B, and C.
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